Describe the formation of a tropical
storm. Use these words to help you:
Warm water, low pressure, warm air
sucked upwards, pulling drier, cooler
air, warm moist air, storm surge. strong
winds.

Describe the oo
graph to
show growth
of urban
areas.
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Evidence for North-South divide - T or
F? How could you edit the F ones to
make them T-do it?

Decline of industry has happened
in south west.

Health is generally worse in the
north than the south.

Houses are more expensive in the
north than the south.

Wages are lower in the north than
the south.

Transport connecting north and
south is good.

Annotate this photograph to show characteristics of hot
environments.

Case Study: Nepal Earthquake

Location:

Date:

Number of deaths:

Richter scale:

Primary effects

Secondary effects Immediate responses

Long term responses




Define these key terms:
Urbanisation —

Rural-urban migration —

Megacity —

Draw the DTM here:
Include examples and characteristics/info for each stage.

Births and
deaths per 1000
per year

Stage 1

Stage 2

Stage 3

Stage 4 Stage 5

= m
=@
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Explain how these factors increase hazard

risk:

¢ Large urban population

Explain how these plants have adapted to live in the

rainforest.

¢ No evacuation/warning system in

place

¢ Large scale poverty

Buttress Roots:

Lianas:

UK Extreme Weather Event:

UK 2003 Heatwave

Cause Response
Effects

Hurricane Katrina
Location:
Date: Wind speed:

Number of people affected:

Colour code grid to show primary effects, secondary effects and immediate and long term
responses. Don't forget a key.

70-80% of New
Orleans evacuated

$50 billion in aid
given by US
Government

1million people
homeless

159mph winds as a
category 5 storm

5m storm surge

Aircraft delivery 25

90% of buildings

Drinking water was

overtopped levees tonnes of relief destroyed contaminated by
supplies sewage for 5 months
1800 killed The superdome was Oil facilities were 3 million left without
used as an damaged and

emergency shelter

petrol prices rose

electricity
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Explain how these
management techniques
can reduce the effects of
hazards. Try and include an
example.

Cadbury has tried to
help reduce the
development gap
between Ghana and
the UK. Explain how
these impacts will

Mast of Ghana's 23 million
people live in the countryside
We have dug 850 newwalls o
supply clean drinking water 1o
130000 people |n rural areas.

We have given
computers to all of Ghana's

teachertraining colleges.

Prediction —

Planning —

Protection —

increase quality of life.

g _,._;1;:_ ]ﬁ} We bL_ay cocoa

Vg [ by fair trade.
We have built 6 new
community lbrares.

We have ghven farmers a
free newsletter talling them
how to produce more cocoa.

Cocoa is one of Ghana's
main ex ports.

What evidence do we have for climate
change?

Ice cores

Pollen Analysis

Tree Rings

Complete the sentences to describe the location of
biomes.
are found near the
equator in Cenfral and South America, parts of
Africa and Asia.

dre found in central Africa
(Kenya, Zambia, Tanzania), northern Australia and
central South Ametrica (Venezuela and Brazil).
confdin trees that
lose their leaves and are found across Europe and
USA.

surrounds the North and
South poles, they have an extremely cold climate.
include the Puszta in Hungary,

Temperature Records

the Veldf in South Africa, the Pampas in Argentfing
and the Prairies in the USA.

Which biome is missing? Describe its location.

Location:

Case Study - Rio de Janeiro

Challenges or solutfions?

Unemployment rates in the
favelas are over 20%.

In 2013 only 55% of the city
had a local family health
clinic.

In Rio, only half of children
confinue their education
beyond the age of 14.

Guanabara Bay is highly
polluted, over 200 tonnes of
raw sewage pours in fo the

bay each day.

Overseas aid has been used
to build 12 new sewage
works and 5km of sewage
pipes have been built to
decrease pollution.

The authorities have fried to
improve access to
education by giving grants
to help them afford the cost
of schooling.

Drug trafficking and street
crime are offen controlled
by powerful gangs.

Health clinics have been
built within the favelas and
are clearly signposted.

Pacifying police units (UPP's)
were established fo reclaim
favelas from drug
dealers/gang leaders.




What is meant by these terms:

(give an example of each in relation to
climate change)

Mitigation —

Explain how each of these statements would improve
quality of life for people living in the favelas.
+ Access to healthcare

+ Sireet lighting added

+ Sewdage and waste collections scheduled

Adaptation -

Police presence increased

Describe the climate found in tropical
rainforests.
These words might help: tfemperature,
heavy. low pressure, high, varies, rainfall,
humid, 2000mm a year, 27°C.

Are these statements about Nepal or ~ New

Zealand ? What were the differences between the

two earthquakes?

9 181 people killed and 2000 injured.

1 9000 people died and 20000 people injured.

1 7000 schools destroyed, 50% of shops
destroyed.

1 Chemical Toilets were provided for 30,000
people

1 3 million people were made homeless

1 80% of roads repaired in 6 months .

1 Cost of damage estimated to be $11 billion.

1 Cost of damaged estimated at over $5 billion.

Case Study & Cockermouth Flooding

Date:
Causes:

Location:

ITALY

NEPAL

Categorise the effects, social, economic or environmental.

Over 1300 homes
were flooded and
contaminated with

sewage

Stagnant water
needed treating
before it could be

pumped into rivers.

Huge amount of
debris needed to be
cleared.

1 death

Many people lost

Local roads cut off by

Over 14000ha of

Damage of the flood

power for almost a flood water. agricultural land estimated to be over
month. under water for 4 £100 million.
weeks.
16 farms evacuated. 50 people The cost of putting Over 1000 livestock
evacuated via right the damage evacuated
helicopter. was an average

of £28,000 per house

Exam Question: Using an example of a recent extreme weather event in the UK, to what extent

were the economic ef

fects more significant than the social effects. (9 marks)
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What is meant by these terms:

Slab pull -

Ridge push -

Convection currents-

Explain how each of these statements would help
mitigate climate change
* Alternative energy production

+ Carbon capture

+ Planting trees

+ International agreements

Describe the physical characteristics of the

tropical rainforest:

These words might help: equatorial, >
leaching, biodiversity, latosols.

Climate:

Name the cause of deforestation being
described.

In Brazil ranching accounts for 80% of
deforestation.

« Trees such as mahogany and teak are highly

valued for furniture use.

Water:

« These bring supplies and provide access to
the new mining areas.

« In Brazil gold, copper and bauxite are mined

Soils:

extensively.
« High rainfall creates ideal conditions for

hydroelectric power.

Plants and animals:

« These have developed to service the
developments in the Brazilian rainforest, such

as farming and mining.

Location:

Case study: Thar Desert

Climate and background:

Categorise the statements into challenges, opportunities and adaptations to the desert.

Animals need to be able
to tolerate a range of
temperatures

Tourism includes desert
tourism and an annual
desert festival

Over extraction of water
from underground
aquifers

Mineral Extraction
(gypsum for road

The Jaisalmer Wind Park
provides renewable wind

The geology makes the
cliffs very unstable and

building) energy they slope toward the sea
Temperature can reach Lack of roads mean Farming using water fr om
50 degrees limited access the Ghandi canal

Plants have thin leaves to
reduce water loss

The river Luni only flows in
winter

Lack of rain means limit
on plant growth




What is meant by these terms:

Complete the table about importance of Rio de Janeiro:

Rural-urban migration —

Regional

National International

Squatter setflement-

Urban planning scheme-

Describe the impacts of urban sprawl on the

Describe the population density of the UK.

rural-urban fringe.

These words might help: commuter
settlements, greenbelt, traffic congestion,
and community spirit.

Social:

Environmental:

Population dansity

5000 + e
2500 - 5000 "
1000 - 2500
S00 - 1000
250 - 500
100 - 250
(500 - 100
25 - 50
0-25 -

Location:

Case study: Rio de Janeiro

Population:

Background:

Categorise the statements info challenges and opportunities in the city of Rio.

Rio offers better health
for new migrants, such
as vulnerable
vaccination
programmes.

Rio has many primary
and secondary
schools- the literacy
rate is 95% for 10 yrs.
and over.

The lack of
affordable property
has forced millions to

build their own
homes.

Disease can spread
rapidly in Rochina-
infant mortality rates
are 50 per 1,000.

Violent crimes are
common especially in
the favelas with gangs
controlling drug crime.

Rochina has a
population over
100,0000 and is built
on the steep slopes.

Access to safe water
has increased
especially since
hosting the Olympics.

Many people have
no access fo flush

foilets instead they
have pit latrines.

Only about 50% of
children confinue
education past 14 yrs.
as they find work fo
support their families.

Rio has better access
to energy although
there are frequent

power cuts.

There are many jobs
in manufacturing
industries- Sepetiba
Bay is one of the
largest steel works.

In the poorest districts
of Rochina over 10%
of people do not
have piped water
QCCcess.
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What is meant by these terms: Complete the following explanation of longshore drift
Destructive wave - The waves approach the heach at an following the
direction of the wind. The of the wave
Constructive wave- transports the material up the following the direction
of the . The backwash moves the material back down
the beach at a angle. This moves the material from one
Fetch- end of the beach to the otherin a - . Longshore
drift is responsible for landforms such as and beaches.

Describe the following types of aid and give | Annotate the image of the Dorset coastline with
examples. the landforms.
These words might help: governments,
taxes, NGQ's, short ferm and long term.

Official development assistance:

Shdiorad sy

stz Foim

Swanage Bay

Tusn Head

Voluntary aid: e,

Examples; South Cambridgeshire and the Outer Hebrides
South Cambridgeshire background:

Quter Hebrides background:

Categorise the statements into social and economic effects. Then identify if they relate to rural
population decline or rural population growth.

Rising house prices Loss of community The out-migration of Lack of affordable
reflect the greater when the village has | the young has left an | housing for the local
demand. a high number of increasingly ageing people.
commuters. population.

Resentment may be Few children due to Public transport is Traditional fishing for
felt towards the less young people reduced as prawns and lobsters
migrants in the could result in school commuters have has declined with @

community. closures. cars. few boats lefi.
An ageing population | Commuters may use | Tourism has become Sale of agricultural
will require increasing shops where they an important land can cause a
amounts of care- work- village shops economic activity- reduction in farm
having social and may have to close. but the infrastructure employment.
economic impacts. cannot cope.




What is meant by these terms:
Biodiversity —

Fragile environment-

Exploitation-

Evaluate the Cross Rail and HS2 project by completing the

table:

Supporters

Objectors

Cross Rail

HS2

Explain how the following can reduce the

development gap:

Fairfrade:

Microfinance loans:

Debt relief:

Investment:

Annotate the Shell logo with the ways in
which the company helps develop Nigeria




